

Phone: 214.389.5500 | Fax: 214.389.5505

delcom group www.delcomgroup.com

QUOTE 60611

**BILL TO JOB LOCATION** 

Company: CELINA ISD Company: CELINA ISD Date: 2025-11-24 Sales Rep: RENDI MILLS Address: 205 S. COLORADO Address: 205 S. COLORADO CELINA, TX 75009 CELINA, TX 75009

Phone: (972) 741 0083

Email: RMILLS@DELCOMGROUP.COM

Contact: Contact:

Phone: Phone: Contract: TIPS 240101 AV/PC

TITLE

RFP 25-26-004 DISTRICT COMPUTER LAB DEVICES, ACCESSORIES, & SERVICES

# SCOPE OF WORK

PART NUMBER	DESCRIPTION	QTY	UNIT PRICE	TOTAL PRICE		
Lenovo ThinkStation	Lenovo ThinkStation P3 Tiny and Peripherals					
12NBGAR1US	Lenovo 23.8" ThinkVision TIO24 Gen5 touch Monitor	130.00	\$340.41	\$44,253.30		
30K6S2A200	Lenovo ThinkStation P3 Tiny Gen 2 - Core Ultra 5 225T, 32GB/512GB, Wifi7, RTX A400, W11P64, 5Y Onsite, 170W	130.00	\$1,064.52	\$138,387.60		
4XF1R07369	Lenovo ThinkCentre Tiny Mounting Kit	130.00	\$24.83	\$3,227.90		
F8E089-BLK	Belkin Mouse Pad - 8" x 9" x 0.25" - Black	130.00	\$3.16	\$410.80		
F5C047	Belkin Surge Protector 6-Outlet Surge with 3 ft. Power Cord	130.00	\$7.91	\$1,028.30		

# IT Deployment Service - ThinkStation P3 Tiny

SCOPE OF WORK:

- \* Receive all items at Delcoms' warehouse.
- \* Unbox and Inspect all items.
- \* Asset Tag ThinkStations w/District Provided Asset tags.
- \* Record make, model, serial number, and asset tag.
- \* Deliver (90) to Celina High School
- \* Image Onsite
- \* Deploy devices at location and Connect peripherals
- \* Deploy Lenovo ThinkStation Tiny, TIO24 Monitor, Tiny Mounting Kit,

Mouse Pad, and Surge Protector at location

- \* Connect to power & data.
- \* Provide Cable management.
- \* Remove all shipping materials for disposal offsite.
- \* Deliver Remaining (40) to District Data Center.

ASSUMPTIONS:

- > All items will ship to Delcom's warehouse.
- > Free and clear access to building(s).
- > No services or installation beyond that stated in SOW.
- > Work schedule will be as agreed by Delcom and customer.
- > Changes to work schedule after crew is en route or onsite will incur

additional charges.

Lenovo ThinkStation P3 Tiny and Peripherals TOTAL: \$193,

Lenovo Legion 15 Gaming PC, Peripherals, and Rack Server					
67D2UAC1US	Lenovo 27" Legion 27QD-10 Monitor	40.00	\$231.18	\$9,247.20	
90YA0012US	Lenovo Legion T5 30IAS10, Ultra 7 265KF, W11P64, 32GB, 1TB SSD, Eclipse Black, GeForce RTX 5070, 850W, 3Y Legion Sup,1 Year Mail-in, Calliope USB Kyb & Mouse	40.00	\$1,991.43	\$79,657.20	
7DG9S96700	Lenovo ThinkSystem SR630 V4 Rack Server - Xeon 6505P, 1U V4 10x2.5", 3yr	1.00	\$6,890.32	\$6,890.32	

Printed: 2025-12-05 Page 1 of 4



Phone: 214.389.5500 | Fax: 214.389.5505

# delcom group www.delcomgroup.com

QUOTE 60611

PART NUMBER	DESCRIPTION	QTY	UNIT PRICE	TOTAL PRICE	
5WS7C20030	Lenovo 3Yr Premier NBD Resp SR630 V4	1.00	\$332.58	\$332.58	
4L41S07971	Lenovo Senet Premium License (21 - 40 PCs)	4.00	\$5,691.81	\$22,767.24	
4L41S07972	Senet Premium Daily Support (21 - 40 PCs)	1.00	\$4,041.29	\$4,041.29	
GXH1C97869	Lenovo Legion Gaming Control Mouse Pad XXL	40.00	\$8.60	\$344.00	
GY51H47350	Lenovo Legion M300s RGB Gaming Mouse	40.00	\$22.70	\$908.00	
GY40T26478	Lenovo Legion K500 RGB Mechanical Gaming Keyboard (US English)	40.00	\$54.03	\$2,161.20	
GXD0T69864	Lenovo Legion H500 Pro 7.1 Surround Sound Gaming Headset	40.00	\$56.19	\$2,247.60	
IT Deployment Service - Legion Caming DC & Pack Server					

### IT Deployment Service - Legion Gaming PC & Rack Server

SCOPE OF WORK:

- \* Receive all items at Delcoms' warehouse.
- \* Unbox and Inspect all items.
- \* Asset Tag ThinkStations w/District Provided Asset tags.
- \* Record make, model, serial number, and asset tag.
- \* Deliver (40) to Celina High School
- \* Image Onsite
- \* Deploy devices at location and Connect peripherals
- \* Deploy Lenovo Legion T5 PC, Legion 27" Monitor, Legion Mouse Pad, Legion M300s Mouse, Legion K500 Keyboard, and Legion H500 Pro Headset.
- \* Install Lenovo ThinkSystem SR630 Rack Server (physical install only, no configuration)
- \* Connect to power & data.
- \* Provide Cable management.
- \* Remove all shipping materials for disposal offsite.

ASSUMPTIONS:

- > All items will ship to Delcom's warehouse.
- > Physical install of Lenovo TS SR630 Rack Server only, no configuration.
- > Free and clear access to building(s).
- > No services or installation beyond that stated in SOW.
- > Work schedule will be as agreed by Delcom and customer.
- > Changes to work schedule after crew is en route or onsite will incur additional charges.

ļ	T Deployment Service - Legion Gaming PC & Rack Server TOTAL:	\$3,154.42
Le	novo Legion T5 Gaming PC. Peripherals, and Rack Server TOTAL:	\$131.751.05

# Lenovo ThinkPad P14s G6 Laptops 21QUS28E00 Lenovo ThinkPad P14s G6 - 14.5" WUXGA, Intel Ultra 7 255H, 16GB/512GB, NVIDIA RTX PRO A500, W11P64, 3Yr Prem 90.00 \$1,694.68 \$152,521.20 IT Deployment Service - ThinkPad P14s

Printed: 2025-12-05 Page 2 of 4

Phone: 214.389.5500 | Fax: 214.389.5505

**QUOTE** 60611

# delcom group www.delcomgroup.com

PART NUMBER	DESCRIPTION	QTY	UNIT PRICE	TOTAL PRICE

SCOPE OF WORK:

\* Receive all items at Delcoms' warehouse.

\* Unbox and Inspect all items.

\* Asset Tag Lenovo P14s G6 Laptops w/District Provided Asset tags.

\* Record make, model, serial number, and asset tag.

\* Deliver to:

\*\* QTY 30 - Celina High School

\*\* QTY 30 - Moore Middle School

\*\* QTY 30 - Willard Middle School

\* Deploy devices at location

\* Connect to power & data

\* Image Onsite

\* Store in JAR carts (covered by RFP 25-26-003)

\* Remove all shipping materials for disposal offsite.

ASSUMPTIONS:

> All items will ship to Delcom's warehouse.

> Free and clear access to building(s).

> No services or installation beyond that stated in SOW.

> Work schedule will be as agreed by Delcom and customer.

> Changes to work schedule after crew is en route or onsite will incur additional charges.

IT Deployment Service - ThinkPad P14s TOTAL: \$3,337.27

Lenovo ThinkPad P14s G6 Laptops TOTAL: \$155,858.47

Mac Mini and Peripherals						
OFE	OFE Mac Mini	200.00	\$0.00	\$0.00		
64B8UAR1US	Lenovo 27" ThinkVision T27QD-4v Monitor	200.00	\$373.33	\$74,666.00		
ACEKEYSG	Macally Space Gray Ultra Slim USB Wired keyboard	200.00	\$38.71	\$7,742.00		
DYNAMOUSEB	Macally USB Optical Quiet Click Mouse	200.00	\$15.05	\$3,010.00		
F8E089-BLK	Belkin Mouse Pad - 8" x 9" x 0.25" - Black	200.00	\$2.84	\$568.00		
920-007119	Logitech Wireless Touch Keyboard K400 Plus - Keyboard - wireless - 2.4 GHz - black	20.00	\$30.11	\$602.20		
28868	C2G USB 3.0 (USB 3.1 Gen 1) USB-C to USB-A Adapter Converter M/F - Black	20.00	\$9.06	\$181.20		
F5C047	Belkin Surge Protector 6-Outlet Surge with 3 ft. Power Cord	200.00	\$7.91	\$1,582.00		

IT Deployment Service - OFE Mac Mini

Printed: 2025-12-05 Page 3 of 4

Phone: 214.389.5500 | Fax: 214.389.5505

**QUOTE** 60611

Subtotal:

Tax:

Total:

\$587,467.01

\$587,467.01

\$0.00

# delcom group www.delcomgroup.com

PART NUMBER	DESCRIPTION	QTY	UNIT PRICE	<b>TOTAL PRICE</b>

SCOPE OF WORK:

- \* Receive all items at Delcoms' warehouse.
- \* OFE Mac Minis, Lenovo 27" Monitors, MacAlly Keyboards + Mice,

Mouse Pads, Logitech keyboards, and USB-C adapters.

- \* Unbox and Inspect all items.
- \* Asset Tag Mac Minis w/District Provided Asset tags.
- \* Record make, model, serial number, and asset tag.
- \* Deliver to:
- \*\* QTY 135 to Celina High School
- \*\* QTY 30 to Moore Middle School
- \*\* QTY 30 to Willard Middle School
- \*\* Remaining (5) to District Data Center
- \* Deploy devices at locations.
- \* Enroll Mac Minis (Connect to Wifi, Enroll, Enter Barcode, SHUTDOWN)
- \* Connect to power & data.
- \*\* Connect Mac Mini to monitor via USB-C to USB-B
- \*\* Connect Mac Mini to monitor via HDMI
- \* Provide Cable management.
- \* Remove all shipping materials for disposal offsite.

# ASSUMPTIONS:

- > All items will ship to Delcom's warehouse.
- > Free and clear access to building(s).
- > No services or installation beyond that stated in SOW.
- > Work schedule will be as agreed by Delcom and customer.
- > Changes to work schedule after crew is en route or onsite will incur additional charges.

IT Deployment Service - OFE Mac Mini TOTAL:			\$8,774.89	
		Mac Mini and Pe	eripherals TOTAL:	\$97,126.29
UGREEN NASync DXI	P8800 Plus & Peripherals			
DXP8800 PLUS	UGREEN NASync DXP8800 Plus 8-Bay NAS Enclosure	1.00	\$1,233.86	\$1,233.86
KVR56S46BD8-32	Kingston ValueRAM 32GB DDR5 SDRAM Memory Module	2.00	\$188.41	\$376.82
ST24000NT002	Seagate IronWolf Pro 24TB 7.2K SATA 512MB LFF 3.5 HE HDI	8.00	\$695.46	\$5,563.68
LNM790X008T-RNNNL	J Lexar 8TB NM790 PCIe 4.0 x4 NVMe M.2 Internal SSD	2.00	\$784.94	\$1,569.88
SS	SLIDING SHELF	2.00	\$136.94	\$273.88
UGREEN NASync DXP8800 Plus & Peripherals TOTAL:			\$9,018.12	

# To prevent processing delays, please email all purchase orders to: orders@delcomgroup.com

## **Tariff & Pricing Adjustment Statement**

Delcom Group is committed to providing accurate and transparent pricing. However, tariffs and manufacturer-imposed adjustments are beyond our control and may change without notice. Quotes reflect pricing at the time of issuance and are subject to adjustment based on any tariffs or manufacturer price changes that occur before an order is placed. Delcom Group is not obligated to deliver at the quoted price if such changes take effect after the quote is issued. We value our partnership and will work diligently to keep you informed of any pricing updates to ensure a smooth ordering process.

## **Terms and Conditions**

Printed: 2025-12-05 Page 4 of 4